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PART A: Structure

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

156- If you decide to pursue an MBA, you could take a range of courses ———-—--——- to finance,
marketing, entrepreneurship and more.
1) are related 2) that they are related
3) related 4) be related

157- Agricultural progress provided -—--—--—--- economic expansion in medieval France.

1) the stimulus necessary to set off
2) to set off the stimulus necessary
3) for setting off the stimulus necessary for
4) the stimulus was necessary for setting off

158- Since large segments of the populations of many developing countries are close to the
subsistence margin and essentially powerless, they tend to be the losers in this system
------- they are aided by a supportive government policy.

1) whereas 2) meanwhile 3) nevertheless 4) unless
159- Any institution that holds twenty percent or more of a company’s stock should be forced
to give the public ----eaeeeeeev,

1) the intent to sell those shares at one day notice
2) one day to notice the intent to sell those shares
3) one day’s notice of the intent to sell those shares
4) those shares in one day for them to notice the intent to sell
160- Comparable worth is a concept that rejects the premise of a separate and lower wage
hierarchy for jobs that are done primarily by women, arguing instead that earnings
should reflect only --—--eceeeeee,
1) the worth of the work performed
2) the work is worth performing
3) the performing worth of the work
4) the work it is worth performing
161- Napley (1975), in The Technique of Persuasion, advised those advocates who would best
serve their clients to present their case in order, with integrity, clarity, simplicity,

brevity, interest, trace of pomposity.
1) and there is no 2) and with no
3) or any 4) with any
162- ---—-, the product life cycle will tell you how to market a product and how much
money to spend.
1) If understood 2) To understand
3) For being understood 4) As its being understood

163- Voluntary termination occurs when an employee resigns to pursue another career
opportunity, relocate with a spouse or simply leave the workforce for personal reasons,
such as .
1) when a family is raised 2) raise a family
3) when there is a family raised 4) raising a family
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164-

165-

While every business needs all three, it is important that one ------eeeeemeaees on one
primary objective or your strategy will degrade into a muddled hodgepodge.

1) focuses 2) to focus 3) focus 4) is focused
Installing anti-virus software, backing up data and ensuring the right maintenance
agreements ----------- -- protect your IT systems.

1) that can all help them being in place

2) which all helps them be in place

3) in place they can all help

4) are in place can all help

PART B: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

166-

167-

168-

169-

170-

171-

172-

173-

174-

The company began to payroll responsibilities to a third party to make it
easier on office staff.

1) compensate 2) assume

3) outsource 4) contribute

The competition among the concerned companies is -——-----meumx , but it's healthy for the
market because consumers benefit.

1) fierce 2) sufficient 3) plausible 4) eclectic

We know that the market for ready-made food is growing rapidly. It already ---—------—- -
8% of our total sales, up from 5% just three years ago.

1) puts up with 2) wrecks havoc on

3) makes amends for 4) accounts for

Make sure to check with a phone call if you ever plan to pay them a visit
to save a wasted journey.

1) impromptu 2) previously

3) beforehand 4) rashly

Whether you manage a corner store, an international corporation, or a fishing trawler,
you actually a business.

1) take 2) lead 3) transfer 4) stagnate

Managers who do not believe in consultation actually see time spent on second opinions
as their productivity.

1) exceeding 2) conventionalizing

3) reinforcing 4) impeding

The commission acknowledged that neither vast amounts of money nor a large staff can
ensure the safety of people who live in the of a nuclear plant.

1) vicinity 2) hazard 3) core 4) realm

An autocratic management style is one where the manager makes decisions --------—eee,
and without regard for even the most talented and experienced subordinates.

1) aggressively 2) implicitly

3) unilaterally 4) passionately

Small business owners are happiest when the government maintains its ——-—
management style and stays out of their affairs.

1) bona fide 2) laissez-faire

3) avant-garde 4) per capita
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175- Corporate executives know that if they don't transform their companies into digital

---- they're going to be at a significant competitive disadvantage.
1) backlashes 2) enterprises
3) covenants 4) outcomes

PART C: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
| pice. Then duprk ihe corvect cholce on Yourwnswer sheet

176-
177-
178-
179-
180-
181-
182-
183-
184-
185-
186-
187-
188-

Incentives to Employees to Strictly Control Their Diabetes

A few years back. Dr. Robert S. Galvin was (176) -=====memnnx searching for new ways
to control medical cost at his company. General Electric. Galvin is GE's chief medical
officer. It's his job to (177) ~===mmeememmm- the company's 323.000 workers healthy. But
he was growing (178) ==-ememeemene with the challenge: Too many employees with
(179) ~memmmmmmmanae illnesses such as diabetes were not (180) ———-mmcmmeeee their
medications or following other prescribed treatment plans. and that led to serious and
expensive (181) -mcemacmeen --. "I said, '"We need to innovate around managing costs."
Galvin recalls.

One of GE's major benefits providers, UnitedHealthcare, was thinking (182) --------
the same lines. So last year, United introduced the Diabetes Health Plan, a first-of-its-
kind benefit now in (183) -=--esemeeemn- testing at GE and two other companies. Fifteen
more workplaces plan to roll it (184) ---e-eeeemee- in 2010. This is far more than a
disease management" program where patients (185) ------eeeeeee- to receive, say,
discounts on medications but are left to (186) ==-==m=nevem-- the prescriptions themselves.
The diabetes plan requires patients to (187) ——==-emeeeemm- treatment and drug guidelines
and to agree to be (188) —-e-mmemeenens by the company to ensure they are (189) ------v-- :
Those who stick with it receive significant discounts on out-of-pocket expenses such
as co-pays for diabetes-specific treatments. Those who don't are (190) -----meeeevev the
program and put back into their company's standard plan. Harsh as it sounds, it's
exactly the type of plan that's likely to catch on as the country debates health-care
reform.

1) simultaneously  2) quixotically 3) desperately 4) paradoxically
1) promote 2) keep 3) elevate 4) maintain
1) sophisticated 2) frustrated 3) mesmerized 4) satiated

1) austere 2) chronic 3) intrinsic 4) unruly

1) ensuing 2) dispensing 3) believing 4) taking

1) complications 2) circumstances 3) dilemmas 4) adversities
1) along 2)in 3) off 4) up

1) former 2) pilot 3) control 4) placebo

1) by 2) off 3) out 4) up

1) add up 2) catch up 3) sign up 4) mix up

1) prepare 2) do 3) decide 4) fill

1) hand out 2) give up 3) culminate in 4) adhere to

1) tracked 2) determined 3) diagnosed 4) attended
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189- 1) benevolent 2) compliant 3) inflexible 4) didactic
190- 1) gotten way with  2) looked down on  3) put up with 4) kicked out of

PART D: Reading Comprehension

Directions: Read the following four passages and decide which choice (1), (2), (3), or (4) that best
answers each question. Then mark the correct choice on your answer sheet.

PASSAGE I:

Free trade is meant to eliminate unfair barriers to global commerce and raise the
economy in developed and developing nations alike. But both apparent and feared
repercussions can create a grave mistrust on the part of workers who believe their
country is giving foreign producers an unfair advantage and costing domestic jobs.
The World Trade Organization is the key target for protest, for the WTO is the main
instrument in advocating and enforcing free trade.

As underdeveloped countries attempt to cut costs to gain a price advantage. many
workers in these countries face low pay. substandard working conditions and even
forced labor and abusive child labor. This “race to the bottom.” as critics call this drive
to cut costs at the expense of human rights. is a key target of protests aimed at the
WTO. Yet the WTO states it does not consider a manufacturer’s treatment of workers
reason for countries to bar importation of that manufacturer's products.

191- What is the best title for the passage?
1) Worldwide Adverse Working Conditions
2) WTO: An Agent of Global Commerce
3) Role of WTO in Economic Growth
4) Free Trade: An Ugly Face

192- In the phrase “race to the bottom,” (paragraph 2) the word "bottom" refers to --------- -—
1) working conditions 2) cutting costs
3) human rights 4) protests aimed at the WTO

193- Which of the following is TRUE about the WTO, according to the passage?
1) It itself is a barrier to the proliferation of trade worldwide.
2) It seems to be a means of manipulation in the hands of some developing countries.
3) It does not care about the conditions under which manufacturers in different
countries produce their goods.
4) Its policies are deliberately designed in ways to give its member countries an
economic edge over non-member countries.

PASSAGE 2:

"Volatile" is one of the clichés used to describe emerging markets. And no wonder,
given the roller-coaster performance that developing country economies turned in
during the 1980s and 1990s.

But whipsawed investors can take heart from an article in the September issue of
the Far Eastern Economic Review. In it, UDS economist Jonathan Anderson argues
that the developing countries are poised for a new golden era that in many ways
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resembles the 1960s and '70s. During those years, growth averaged 6% a year,
compared with less than 4% for the U.S. and Europe. Then came the /9Bo-B2
recession, and for the next couple of decades the emerging world actually sank.

Developing countries are weathering the downturn much better this time,
confounding expectations that as demand for their exports dried up, growth would be
thrown off track. Why is that? Because they steered clear of leverage. While
industrialized nations were piling on debt, most countries in the developing
world—particularly governments—were paring back. UBS expects emerging markets
to grow at an average rate of 5% to 6% over the next five years, compared with an
anemic 1.5% to 2% for advanced economies.

What the author means by "roller-coaster performance" mentioned in paragraph 1 is

that the performance was -—----e-cceuee >

1) on the rise 2) fluctuating

3) amusing 4) fast

Which of the following is TRUE about the growth rate of the U.S. and Europe in the

1960s?

1) It was unstable.

2) It was a bit over 4%.

3) It was something between 4% to 6%.

4) It was lower than that of developing countries.

Which of the following is TRUE about the economy of developing countries in the last

two decades of the 20" century?

1) It began to recover from a big recession.

2) It was about to experience another slump.

3) It was not as stable as an economy that is in a normal condition.

4) It managed to survive a global slowdown in trade and headed for recovery.

What does the passage state about the 1960s and '70s?

1) They were decades in which developing countries’ economy flourished.

2) Those years set the condition for a severe recession to affect developing countries
across the world.

3) An economist named Jonathan Anderson published an article that left an impressive
impact on global trade.

4) During these two decades the emerging economies began to sink after a period of
successful growth.

Which of the following best describes the economic situation of the developing countries

when the 198, — B, happened?

1) Bleak 2) Stable 3) Typical 4) Rosy
The word "they" in paragraph 3 refers to -- ;

1) exports 2) expectations

3) developing countries 4) demand and exports

Which of the following rhetorical techniques is NOT used in developing the main point
of paragraph 3?

1) Cause and effect 2) Pointing out differences

3) Facts and figures 4) Steps in a process
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PASSAGE 3:

At least a dozen models of creativity have been proposed during the past century. Most
of these have a common feature: they depend on a balance between analytical and
synthetic thinking, and usually describe the creative process as a sequence of phases
that alternate between these states. The model developed by Graham Wallas, for
example, consists of four phases: preparation—definition of the problem: incubation—
ignoring the problem for a while; insight—the moment when a new idea emerges: and
verification—analysis of the new idea. ‘Preparation’ and ‘verification” depend on
analytical thinking, whereas “insight’ is an expression of synthetic thinking. This is the
most elusive part of the creative process because it emerges abruptly and
unexpectedly, often at a time when the subject is not consciously thinking about the
problem. This has led to the proposal that subconscious mental processes during the
incubation phase are important for a creative idea.

Most research on creativity has focused on the individual. such as the many
studies to characterize the personality traits of highly creative persons. However, more
recent studies suggest that creativity also depends strongly on the social and cultural
context. For example, Vera John-Steiner's examination of some of the greatest creative
individuals in human history reveals that their breakthroughs depended on
collaboration and social support. Teresa Amabile's work shows how the social
environment in business organizations affects the creativity of their employees—often
undermining it by focusing on efficiency and control: she concludes that, based on a
deep understanding of creativity, managers can stimulate the creativity of their
workforce.

Which of the following best states the main purpose of the passage?

1) To compare and contrast various models of creativity

2) To chronicle the lives and common features of creative people

3) To define a phenomenon by identifying its component parts

4) To explain an individual trait through the discipline of sociology

Which of the following best describes the organization of paragraph 17

1) A generalization is made and then repudiated in the light of new evidence.

2) A suggestion is made and then it is illustrated by reference to an important finding.

3) A general phenomenon is introduced and further clarified through an actual
example of its kind.

4) The steps involved in the development of a phenomenon are introduced and then
examples to further explain each of those steps are furnished.

What does the word "it" in paragraph 1 refer to?

1) Wallas's model  2) insight 3) creativity 4) creative process

Why does the author refer to Teresa Amabile's work in paragraph 2?

1) To further support an early assertion

2) To expand the definition of creativity

3) To present a new realm of investigation

4) To counter the claim that creativity is a social endeavor

The word "it" in paragraph 2 refers to --—-----mnn

1) environment 2) business organization

3) Amabile's work 4) creativity
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The passage provides information to answer which of the following questions?

1) Why is that there is no consensus on the definition of creativity?

2) What are the personality traits of highly creative persons, as revealed by research?

3) Out of the seemingly many models of creativity, which of them has gained more
currency in business settings?

4) What has led to the belief that subconscious mental processes during the incubation
phase are important for a creative idea?

The author mentions which of the following as a variable somehow counterproductive as

far as attempts to stimulate creativity in people are concerned?

1) Undue focus on efficiency and control

2) Failure to learn from creative people's contributions

3) Studying creativity from a social perspective only

4) Utilizing only one model to capture a variable as clusive as creativity

PASSAGE 4:

Intensive farming is an agricultural intensification and mechanization system that aims
to maximize yields from available land through various means, such as heavy use of
pesticides and chemical fertilizers. This intensification and mechanization has also
been applied to the raising of livestock with billions of animals, such as cows, pigs and
chickens, being held indoors in what have become known as factory farms.

Intensive farming practices produce more and cheaper food per acre and animal.
which has helped feed a booming human population and may prevent surrounding land
from being converted into agricultural land, but has grown to become the biggest
threat to the global environment through the loss of ecosystem services and global
warming, has led to the emergence of new parasites and re-emergence of parasites
previously considered to be 'under control' by creating the conditions for parasite
growth and is responsible for 80% of tropical deforestation.

Furthermore, intensive farming Kills beneficial insects and plants. degrades and
depletes the very soil it depends on, creates polluted runoff and clogged water
systems, increases susceptibility to flooding, causes the genetic erosion of crops and
livestock  species around the world, decreases  biodiversity, destroys natural
habitats and. according to an article in a farming journal, "Farming practices,
livestock, and clearing of land for agriculture are significant contributors to the build-
up of greenhouse gases in the atmosphere." However, certain aspects of intensive
farming have helped case climate change by helping boost yields in already cleared
land that may be under-performing, which prevents the clearing of additional land.

There are both pros and cons to intensive farming, but compared to the
disadvantages. the advantages are less. The world is in transition from an era of food
abundance to one of scarcity. With 40% of the planet’s land devoted to human food
production, up from 7% in 1700, and as the world’s demand for food rises 70% by
2050 . feeding arapidly growing human population can and should be done
by adopting a sustainable food production approach that can run indefinitely with
minimized impacts on the environment, animal welfare and human health.
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Which of the following best describes the organization of the passage?

1) A phenomenon is described and the ramifications of its application are mentioned.

2) A specific type of a phenomenon is described and then used as a basis for general
conclusions.

3) An important practice and its effects are discussed and then ways in which it has
been revised are described.

4) A method for farming is described and then specific examples of situations in which
it has been used are offered.

Which of the following best describes the relationship between the second and third

paragraphs of the passage?

1) The second paragraph outlines a number of shortcomings of a phenomenon and the
third paragraph consolidates the same position.

2) The third paragraph describes a specific case of a phenomenon that is described
generally in the second paragraph.

3) The second paragraph describes a traditional view and the third paragraph calls for a
change to that view.

4) Both paragraphs describe in detail specific examples of the phenomenon that is
introduced in the first paragraph.

What does the word "which" in paragraph 2 refer to?

1) Animal

2) Intensive farming

3) Production of more and cheaper food per acre and animal

4) The fact that booming human population demands intensive farming

All of the following are mentioned in the passage as outcomes of intensive farming

EXCEPT -,

1) more and cheaper food per acre

2) destruction of beneficial insects and plants

3) appearance of parasites long believed to be extinct

4) contribution to the build-up of greenhouse gases in the atmosphere

Which of the following best describes the role of the quoted information in the third

paragraph?

1) It introduces a new thesis.

2) It further supports the thesis of the same paragraph.

3) It provides contrasting data that serve to qualify the main point of the paragraph.

4) It unravels statistical evidence to prove that what has already been cited in the same
paragraph has the backing of the scientific community.

Which of the following rhetorical devices is NOT used in the development of the ideas in

this passage?

1) Definition 2) Exemplification

3) Cause-effect 4) Analogy

The word "one" in paragraph 4 refers to --------—-—- S

1) transition 2)era 3) abundance 4) world

Which of the following best describes the author’s attitude towards intensive farming?
1) Cynical 2) Indifferent 3) Hesitant 4) Supportive
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PART A: Structure

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

216- The term altruism may also refer to an ethical doctrine that claims that individuals
------------ to benefit others.
1) to morally oblige 2) are morally obliged
3) who morally oblige 4) who are morally obliged

217- Because Niépce's camera photographs required an extremely long exposure, he sought

to greatly improve his bitumen process or replace it with ———--- practical.
1) one that was more 2) what was one more
3) one more 4) that was one more
218- In contrast to instinct theories, social learning theories view aggression —------—- -
1) behavior as to learn 2) to learn behavior
3) for behavior learned 4) as a learned behavior
219- --—eeeeeeeeeee- the dishes, the man went to bed immediately in that he was dead tired.
1) Washing 2) To wash
3) Having washed 4) To be washing
220 --eseeeeeeeeeee is clear from the fact that the cannonball quickly disappeared when

sculptors learned how to strengthen the internal structure.
1) That this device was a necessary structural compromise
2) This device was a necessary structural compromise
3) A necessary structural compromise, this device
4) As a necessary structural compromise, this device
221- In the face of the upcoming water supply crisis, a number of grandiose schemes -—--—----- ---
to transport vast quantities of water from nearby rivers.

1) was developed 2) developing
3) have been developed 4) develops

222- Iron came from West Asia, although its routes of diffusion were somewhat different
from ——-eecemeeee- agriculture.
1) it was in 2) that in 3) that of 4) those of

223- In his latest work —-----==--venev in the summer of 2011 at his Beijing studio, Chinese artist
Liu Bolin blends into a background of a supermarket soft drinks display.
1) he created 2) created 3) was created 4) it was created

224- Only after I signed the agreement -——-------—-- -- that they had deceived me.
1) I realized 2) did I realize
3) I would realize 4) that I realized

225- When I first saw a fadista perform in a ——-----eeeeemv one sultry evening in Lisbon twenty
years ago, | was ignorant both of the Fado music tradition and of the Portuguese
language.
1) café dimly lit 2) lit café dimly

3) café that lit dimly 4) dimly lit café
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PART B: Written Expression

Directions: Choose the word or phrase (1), (2), (3), or (4) that must be changed for the sentence
to be correct. Then mark the correct choice on your answer sheet.

226- Urban planners work with the cognate fields of architecture, landscape architecture,

civil engineering} and public administration to__achieve strategic, policy and
sustainaiilig goal. :

227- Arogd.‘l‘)oo, theorists began developing urban planning models to mitigate the
conscq:wnccs of industrial age, by 2pmviding citizens, especially factory workers,
with healthier environnfcnts.

228- If a heav;’ rail line has constructed, it needs a level route, but if the city does not
possess this feature, then tral:snortation is afl;'ected.

229- Pointing out that mich of Ca4mbridgc is only about 40 feet above of sea level, Reif
obser:ed that rising seas would likely present a critical challenge in the flzlturc.

3 4

230- Waste management or waste disposal normally relates to all kinds of waste, whether
1
generated during the extraction of raw materials, the processing of raw materials

2 3
into intermediate and final products, the consuming of final products, or other
4

human activities.

231- Despite improvements in medical technology allow humans heal from numerous
di:eases and medical conditions, research shows that contact wilzh the green
environment still offers great benefits to mental health aid psychological well-being.

232- A large number of waste management .‘practices deal with municipal solid waste
(MSW) which is waste is creatctll by household, industrial, andzcommcrcial activity,

233- Job sprawl is @ low-density, geographically spread-out patterns of !
employment, whelre the majority of jobs in a gi_\z_ﬂ metropolitan area are located
outside of the main city's central business dislr?ct. !
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234- Although the depression of 1890 stimulated the growth of charitable institutions and

an expanding urban population became dependent on assistance, there was a
1 2
decline in private contributions to these organizations thereby forced them to look
3

to local government for financial support.

235- Such ill-considered projects n.‘ot only will fail to relieve pressures on existing cities
but will, in fact, tend to weaken t:xose cities further by drawing awa_vzhigh-income
cifizcns and increases the concentration of low-income groups that are unable to
provide tax inco4mc.

PART C: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
mark the correct choice on your answer sheet.

236- As is well known, urban planning and design are -—--—-eeeeeeee- disciplines and can be
approached theoretically from various viewpoints or understood in differing terms.
1) conciliatory 2) suspicious 3) multifaceted 4) imitative

237- There is no doubt, though, that some of the modernists’ failures in the production and
distribution of aesthetic welfare would have been -----ceeeeeeeee by proper aesthetic
education.
1) utilized 2) avoided 3) precipitated 4) cherished

238- As traffic -——--------—-— continues growing in urban areas, more and more cities have
realized that investment priority should be given to public transport modes.
1) congestion 2) evolvement 3) remedy 4) regularity

239- The waste collection vehicle will often take the waste to a transfer station where it will be
loaded up into a larger vehicle and sent to either a ——-—-—-- or alternative waste
treatment facility.
1) repertoire 2) reservoir 3) locality 4) landfill

240- Fortunately, shopping malls incorporate - parking in their design and

construction. This makes it advantageous for people who choose to shop there instead of
a single store.

1) intricate 2) ample 3) dominant 4) redundant

241- They lived in London for three years but never really got -——----——--- the cold and gloomy
weather. Now they plan to leave for another city where they would feel more comfortable.
1) detached from 2) alienated by 3) acclimatized to  4) paralyzed by

242- The police concluded that the murder could not have been committed without the help
of at least one ——--=-vmeeeem,
1) accomplice 2) neophyte 3) savant 4) flatterer

243- As my sister has ----eeeeeeee moods, we never know how she will be feeling from one

moment to the next.
1) indifferent 2) comprehensive  3) provocative 4) mercurial
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244- The detail of these raids is quite beyond the compass of the present article, and a
summary or synopsis must

1) receive validation 2) be prone to mistakes
3) exceed 4) suffice

245- In developing the plan for a community (whether commercial, residential, agricultural,
natural or recreational), urban planners must also consider a wide --—--—-eeuueev of issues.
1) split 2) array 3) modicum 4) digit

246- In reaction to a rigid, overrefined classical curriculum, some educational philosophers
have swung sharply to ——-—eeuux -- of *life experience” as the sole source of learning.
1) a struggle 2) a resolution
3) an interdependence 4) an espousal

247- Sewage treatment is the process of removing -----------—--- from wastewater, primarily
from household sewage.
1) contaminants 2) remnants 3) relics 4) bubbles

248- To perform its function of supporting a building in response to whatever loads may be
applied to it, a structure must possess four —------w-- e
1) objections 2) paradigms 3) properties 4) experiments

249- Steel has high strength and equal strength in tension and compression and is therefore -
wmemmmeemm== fOr the full range of structural elements.

1) profound 2) artificial 3) suitable 4) tolerant

250- Share taxis offer on-demand services in many parts of the world, and some services will
wait until the vehicle is full before it —--—--—-—me- .
1) vanishes 2) accelerates 3) occupies 4) departs

| PART D: Reading Comprehension

Directions: Read the following three passages and decide which choice (1), (2), (3), or (4) that
best answers each question. Then mark the correct choice on your answer sheet.

PASSAGE 1:

During the years of national isolation, Japan's merchant class expanded enormously
and with them, the country’s towns and cities. By the eighteenth century, Edo (now
Tokyo) had emerged as the world’s largest city easily outstripping the largest that
Europe could offer, London and Paris. Thus, when Japan re-opened its doors in the
1850s. there were more. larger and denser cities than ever before for Westerners to
view. There were also many more people from the West to see them including. for the
first time. Americans for whom the journey was a relatively short single ocean hop.
But with few exceptions. the new stream of Western visitors from both sides of the
Atlantic (and other places) showed little generosity in their attitudes to Japan’s cities
and their built forms. To the "Enlightened’ Western eye of the latter half of the
nineteenth century, the cities appeared drab, featureless and insubstantial.

Reflecting upon the changes in Western attitudes towards Edo—Tokyo (Edo was
renamed Tokyo in 1868) between the pre- and post-isolation years, the Director of the
German Institute for Japan Studies. Josef Kriener. is of the opinion that the early
Europeans to visit Edo found a city *which they perceived as comparable to European
cities in some manner’ and therefore comprehensible in some ways. He believes that
this altered only after the Enlightenment in Europe and further suggests that this was
more tied to changes in European self-consciousness than to changes in Japan.
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251- Why does the author mention "London and Paris" in paragraph 1?
1) Because they were larger than they are now
2) Because they were already the world’s largest cities
3) To make the reader better grasp one aspect of Edo
4) To show how Europe had surpassed Japan in urban development
252- The word "them" in paragraph 1 refers to --—---ecceeeeee

1) Westerners 2) Landon and Paris
3) Americans 4) cities
253- It can be inferred from the passage that before 1850s, Japan —-—--eeeeeeeee,
1) was a closed society 2) was agriculture-based
3) was ruled by business people 4) was hostile to the Western world

254- Which of the following best describes Western visitors' attitude towards Japanese cities
when they visited these cities after Japan opened its doors in the 1850s?

1) Commendation 2) Hesitance
3) Disapproval 4) Amusement

255- Why did the Japanese authorities change the name of Japan's largest city in the 19"
century?

1) How did Japan’s merchant class expand enormously in the 19th century?
2) Why did the Japanese authorities change the name of Japan's largest city in the 19"
century?
3) Why was there a change in Western attitudes towards Edo between Japan's pre- and
post-isolation years?
4) Why did the Enlightenment in Europe alter the way Europeans viewed urban
architecture?
256- Which of the following best describes the function of paragraph 2 in relation to
paragraph 17
1) It offers a reason for a claim made in paragraph 1.
2) It. to a large extent. contradicts the main point of paragraph 1.
3) It refers to an authority to settle a dispute mentioned in paragraph 1.
4) It contrasts the viewpoint of a scholar towards Japan with that of ordinary European
people described in paragraph 1.
257- What does the phrase "the latter half of the nineteenth century" (paragraph 1) refer to?
1) 1900 to 1950
2) 1800 to 1850
3) The period after 1850 to the end of that century
4) The period after 1950 to the end of that century

PASSAGE 2:

There is evidence of urban planning and designed communities dating back to the
Mesopotamian. Indus Valley, Minoan, and Egyptian civilizations in the third
millennium BCE. Archeologists studying the ruins of cities in these areas find paved
streets that were laid out at right angles in a grid pattern. The idea of a planned out
urban area evolved as different civilizations adopted it. Beginning in the 8th century
BCE. Greek city states were primarily centered on orthogonal (or grid-like) plans. The
ancient Romans, inspired by the Greeks, also used orthogonal plans for their cities.
City planning in the Roman world was developed for military defense and public
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convenience. The spread of the Roman Empire subsequently spread the ideas of urban
planning. As the Roman Empire declined. these ideas slowly disappeared. However.
many cities in Europe still held onto the planned Roman city center. Cities in Europe
from the 9th to 14th centuries often grew organically and sometimes chaotically. But
many hundreds of new towns were newly built according to preconceived plans. and
many others were enlarged with newly planned extensions. Most of these were
realized from the 12th to 14th centuries, with a peak-period at the end of the 13th.
From the 15th century on, much more is recorded of urban design and the people that
were involved. In this period, theoretical treatises on architecture and urban planning
start to appear in which theoretical questions are addressed and designs of towns and
cities are described and depicted. In the nineteenth century. several European rulers
ambitiously attempted to redesign capital cities. During the Second French Republic,
Baron Georges-Eugéne Haussmann. under the direction of Napoleon III. redesigned
the city of Paris into a more modern capital, with long. straight, wide boulevards.

What is the passage mainly concerned with?

1) The effect of Romans on European city structure

2) A chronological description of planned out urban areas

3) Archeologists' findings about city planning in ancient civilizations

4) The harmony between city dwellers' needs and their urban infrastructure

The word "it" in line 5 refers to --—

1) area 2) pattern 3) idea 4) civilization

According to the passage, the ancient Romans designed their cities -———--—-----,

1) following grid-like plans

2) to be able to better expand militarily

3) in order to impress their rivals. the Greeks

4) in a way that led to their ultimate collapse as an empire

The passage states that the ideas of urban planning lost their importance after -——-—-— >

1) the quick spread of the Roman empire

2) the collapse of similar ideas in Greek city states

3) city planning for defensive purposes became necessary

4) the Roman empire left behind its days of spread and expansion

According to the passage, in the 8th century BCE Greeks designed their cities ------------ i

1) to be able to compete with the ancient Romans

2) in order to have similar city states

3) based on orthogonal plans

4) on a random basis

According to the passage, which of the following is true about preconceived plans?

1) They are the first documented plans ever used for city planning.

2) They went out of fashion soon after the collapse of the Roman Empire.

3) They are said to be the best in terms of military and public convenience.

4) They were somehow used by many city planners in Europe after the Roman Empire
declined.

According to the passage, the enlargement of urban areas in Europe reached its summit

in the ———emeeev,

1) 15th century 2) 14th century 3) 13th century 4) 8th century
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The word "others" in line 13 refers to —-—--eeeeeee .

1) towns 2) plans

3) extensions 4) 9th to 14th centuries

What does the author mean by "this period" in line 16?

1) Modern times 2) 19th century

3) The end of the 13th century 4) From the 15th century onwards
PASSAGE 3:

Language attrition is the process of losing a native, or first, language. This process is
generally caused by both isolation from speakers of the first language and the
acquisition and use of a second language, which interferes with the correct production
and comprehension of the first. Such interference from a second language is likely
experienced to some extent by all bilinguals, but is most evident among speakers for
whom a language other than their first has started to play an important, if not
dominant, role in everyday life; these speakers are at a higher risk for experiencing
language attrition. A notable example of this is found in immigrants, who may move to
a country in which a language foreign to them is spoken, and go on to use that later-
learned environmental language in their daily lives. Their gradual decline in
proficiency in their first language, or L1, resulting from both isolation from other
speakers of their L1 and interference from the 1.2 they are acquiring, is considered
language attrition.

There are a number of factors which may affect the process of L1 attrition.
Frequent exposure and use of a particular language is often assumed adequate to
maintain the native language system intact. However, research has often failed to
confirm this prediction. A positive attitude towards the potentially attriting language or
its speech community and motivation to retain the language are other factors which
may reduce the effects of attrition. This factor too is difficult to confirm by
research. However, age of the attriter can well predict the likelihood of attrition:
children are demonstrably more likely to lose their first language than adults. All of
these potential or proven factors are similar to those that affect second language
acquisition, and the two processes are sometimes compared. However, the overall
impact of these factors is far less strongly pronounced than what has been found in
second language acquisition.

Which of the following best describes the organization of paragraph 1?

1) A phenomenon is defined and the reasons for it are analyzed.

2) An assertion is made and a specific supporting example is given.

3) A fact is stated and then proof for its existence is provided by analogy.

4) A generalization is made and then its pros and cons are discussed by illustration.

The word "which" in paragraph 1 refers to --—--—--—-- ‘

1) attrition process

2) the acquisition and use of a second language

3) isolation from speakers of the first language

4) isolation from speakers of the first language and the acquisition and use of a second
language
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Why does the author refer to "immigrants" in paragraph 1?

1) To qualify an already mentioned claim

2) To mention an exception to a general rule

3) To provide further support for the main point of the same paragraph

4) To justify the negligence of immigrants who deliberately attempt not to use their
native language

What does the second paragraph mainly discuss?

1) Variables having a bearing on L.1 attrition

2) The reliability of research concerned with first language acquisition

3) Ways to learn a second language without running the risk of losing one's L1

4) Reasons why second language attrition is more widespread than first language attrition

Paragraph 2 suggests that under similar conditions, who is more vulnerable to L1

attrition: children or adults?

1) There is no difference between the two. 2) The two are equally vulnerable.

3) Adults 4) Children

According to paragraph 2, research findings regarding the effect of a positive attitude

on L1 attrition -—---e-eeeev .

1) are well established 2) are inconclusive

3) are beginning to appear 4) were once accepted uncritically
The word "those" in paragraph 2 refers to - .

1) adults 2) children

3) adults and children 4) factors

Which of the following can slow down L1 attrition for people living in a foreign country

with a different language?

1) Need to use the L1 to fulfill some of the daily functions

2) Familiarity with the novel research carried out on the topic of language attrition

3) Immigration to a new country whose people are not hostile to the immigrant's L1

4) Motivation to learn a second language even under adverse circumstances and with a
poor pronunciation

Which of the following best describes the tone of the passage?

1) Critical and defiant 2) Enthusiastic and supportive

3) Skeptical and questioning 4) Neutral and objective



